EEEEDREEERSCRAE

NEHER  |T1242H20H

R & | mF | %% e BERNRET ), | BE EEEE
Az | @ |04 P 11535 0% R S H A
E 1| me | 0| stek %0 ggjﬁgﬁ OB S
> {11 | & 15775 Bl G GOE TR
> [ 111 | 8 [19913] sl TGS BEO e

2 | 111 | 8 | 19914] #msuEiees) S O A
> 112 | 5 | 24 | sabnsien G GOE TR
> [ 110 | 28 | 288 | daaalnbie %0 GOX AR
= [0 | @ |isis] . o FLSR 2O AR
= [0 | @ el S EBARE BHO= AR
= T | |sss| s %0 BOW A
= [ | |iosos] s Enah O AR
= [0 | e | o ot N EOK CETEE
= [ 111 | &5 | 1313 | Seabisies] B0 EOF EETEE
= 111 | ois | 1938 | drabisleh] B0 O R
= | 111 | #E | 2043 | dayiEled] et SO BETED
=T @ [ e S HE HOMRE IR
= 0] | & st HES Ok A
= 12| @ | sl s S S O40 I
= 10| | 4 SRS = SOE I
= 10| & | s S TS 2O I
= 10| & |85 g S FOH I
= 10| @& s3] wws T OZ IR
= 10| & 1560 ] s WA O IR
= 12| & 2040 S TS SO IR
= 10| & | »0n| ek CRAE RO IR
= 10| @& w9 sws B TOH, IR
= [0 | | 2886 | mpvitiis HESE SOl CETE
= [0 | | 3068 | sesebishes S ~0% EETEE
= 12| & o St TREE #OR R
= (10| & | 3% gevses H{EE O eI
= 10| @& |3 Aiek FLE B0 RS
=T | @ ssd| s KD EO% RS
= 10| @& ;1| s R SOf RS
= 10| & | sl S HESR E=OZ RS
= [0 | || gy HHE FIOH] e

= 10 | BE | 95 | Sayislies e EOF B IE
= [0 | mE | 16 | et | mimsoen | 2045 RS
= 1| @6 | 6 R EE Bl RER | #08 e

= 11 | @ |74 | mEraE ENGE EOR IRET

5 1 | 5 | 2576 | Fnsnes 50 0% BEES

F1H H3H




% | | | 1546 %@iﬁ;%ﬁ FRB B SR
% [ 11| &= |1D06] ihaenms | meas BOE TR
% || o | 17867 Eﬁmgﬂgﬁ%mg R SOR B B s
* {111 | = 08| e | R EO% BARRILL
% 1 11 | B | 39 | UiEe %0 oI | RoNEET s
% L2 | @ || s e WO e
s {111 | 5 |1sen o &0 % O TR
& |12 | mamE | 5 | salnsiin s RO AR
5 L] 4 |oos0]  wiEiaE R O AR
B 111 | ®mE | 10 | wiEneT L5 07 AR
s (11 ] @ 3009 5 s O AR
s {11 ] 5 |30 =7 e 505 AR
a2 [0 ] = o] s FERE ELOH AR
s [ | 8 s8] s ERE BOk I
s [ | 8 s09] s ERE 2O T
s | 11| 8 | 185s8 f*ﬁi‘;{%ﬂ% HOM HOF RS
% 12| & | o SRR ERE TOR e
s [ 10 | 8 1805 | s R FOW T
= |10 | 5 1807 | s R ELOME TS
5 | 10 | 5 | sos | s R BOX A
w10 | 8 [1so | s TR 208 e
& |11 | a7 W %50 EOM T
12 | 1 | 100 B %0 EOH: T
£ 112 | 8 |4 wiEmms FROR O TSRS
E |12 | 1 | 1606 B %0 EOHE T
e |12 | 4 |88 | mies %0 EHOE TR
e |12 | 4 | oss | mies %50 EOE A
e |12 | omE | | stk FRAB #0= s S A
W 12 | e | 1 SEHCE &0 HOm B
W | 12 | e | 1 S %0 TOME BT
W | 12 | e | 1 S %0 BOE BT
= | 11 | vl | 123 e SR $£O= RIS
= | 10 | vl | 123 EEE ~ESE | BEOE AR
5 | 1 | v | 123 e NS HO® AL
% | 101 | i | 123 PEEs AR B0 AR
= | 10 | vl | 103 e SR BOS RS
m | 111 | g | 123 s NES O RS
| 11 | i | 10 B RS O AR
B Lo | @\ || Ak B O FETEER
5 | 12 | mE | 287 || Akl Ry SOR R S A

F2H HH3H




2 | s | oss fa LR O e B A
2 | s | 2s0 | stk cram MO mamEsn
B 10 | wmE |0 | sk FEam THeL) EETRS
B 1o | w01 | Ak = O BT
B 10 | mE | | Akek EEAE RO BT
= 111 | @ 0]  #EmE EEAE O RIS
= [ 111 | D | 10 it LS TO& TS
= | @ [ o CRAE =0 TS
= 1| @ |60 e CRAE SOt TS
% L | @ o o NS HOH THETED
% Lo | @ (5] weres T O TS
W [0 | 5 |10 S S =% TR
s 12 | 5 | oses g AL EOR FHETED
w0 | dE | 295 | deanls s AL WO FETER
= 110 | 5 | 65 | sassiieh 50 EOR | RNEETES
EECTEEAE = HOR FETEER)
T | e | 753 | saissiiep %0 O | BB
w0 e e HES EOW, R
WL | alle] s HE DS O e
T | m [ale] e HES S 5O R
WL | | s LS 5O R
L | [le0ss| s ENGE 0 e
| | [le0s3] s AL EOW, T
| | [le0s3] s AL WO R
w0 | [170s0] s %50 WO R

FIH HH3H




